Homework Set 33D
PH 113 – 10
Q1.	A spherical mirror is cut in half horizontally.  Will an image be formed by the bottom half of the mirror (with the top half removed)?  If so, where will the image be formed?



P1.	A candle 4.85 cm tall is 39.2 cm to the left of a plane mirror.  (A) Where is the image formed by the mirror?  (B) What is the height of this image?




P2.	A concave mirror has a radius of curvature of 34.0 cm.  (A) What is its focal length?  (B) If the mirror is immersed in water (refractive index 1.33), what is its focal length?

  



P3.	An object is 24.0 cm from the center of a silvered spherical glass Christmas tree ornament 6.00 cm in diameter.  (A) What is the position of its image?  (B) What is the magnification of its image?
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P4.	The thin glass shell shown in the figure below has a spherical shape with a radius of curvature of 12.0 cm, and both of its surfaces can act as mirrors. A seed 3.30 mm high is placed 15.0 cm from the center of the mirror along the optic axis, as shown in the figure.  (A) Calculate the location of the image of this seed.  (B) Calculate the height of the image of this seed.  (C) Suppose now that the shell is reversed. Find the location of the seed's image.
[image: no title provided]
image1.jpeg
330 mar

<= T50em




